DOCK EDGE *#* ASSEMBLY INSTRUCTIONS

PART LISTING

ITEM  DESCRIPTION 3-STEP 4-STEP 5-STEP
STEP 3 4 5
TWO STEP EXTENSION TUBE 2 4 4
5/16” x 2" BOLT, LOCK NUT & NYLON WASHER 6 8 10
ONE STEP EXTENSION TUBE 2 0 2
5/16” x 1%.” BOLT, LOCK NUT & NYLON WASHER 2 2 2
BOTTOM CAP 2 2 2
HAND RAIL ASSEMBLY 2 2 2

ASSEMBLY INSTRUCTIONS:

1. Assemble away from water to avoid loss of components.

2. Install Steps (A) to Two Step Extension Tubes (B) and One Step
Extension Tubes (C) with 5/16” x 2" BOLTS, LOCK NUT & WASHERS
(C) as shown. Install Bottom Caps (F) to bottom of assembly.

3. Install top of step assembly into Hand Rail Assemblies (G) aligning
holes and install 5/16” x 1¥%.” BOLTS, LOCK NUT & WASHERS (E).

INSTALLATION TO DOCK:
Note: Fasteners * not included.
To be determined by dock thickness and dock material.

1. Position assembled ladder to desired position on dock.

2. Drill 4 holes for fasteners * [not supplied) thru handrail assemblies
and dock.

3. Install 4 fasteners * (not supplied) thru handrail assemblies and dock.
Completely tighten all fasteners *.

TO EXPAND YOUR LADDER, EXTENSION KITS ARE AVAILABLE:

ITEM PAINTED # STAINLESS STEEL #
1STEP KIT 2101-F 2201-F
2 STEP KIT 2102-F 2202-F

CAUTION: Failure to follow proper installation instructions voids
warranty and may lead to product failure and personal injury.
Regularly inspect the ladder and mounting hardware for wear or
damage. Replace as necessary. DO NOT EXCEED THE LADDERS’
MAXIMUM CAPACITY OF 400LB. (181KG)

Printed in Canada v2.0

DOCK EDGE ¢ 300 New Huntington Rd, Woodbridge, ON, L4H OR4 800-295-3625 www.dockedge.com



D 0 CI( ED GE ’_’_Egvc. INSTRUCET(igIElIgLDE'ADSES%lh’dABILFA!éE

LISTE DES PIECES
ARTICLE DESCRIPTION 3-MARCHE 4-MARCHE 5-MARCHE

MARCHE 3 4 5
TUBE D’EXTENSION DE DEUX MARCHES 2 4 4
5/16po x 2po BOULON, ECROU et

RONDELLES EN NYLON 6 8 10
TUBE D’EXTENSION D'UNE MARCHE 2 0 2
5/16po x 1%po BOULON, ECROU et

RONDELLES EN NYLON 2 2 2
CAPUCHON INFERIEURE 2 2 2
ASSEMBLAGE DE BARRE DE MAIN 2 2 2

INSTRUCTIONS DE MONTAGE:

1. Ne pas assembler pret de 'eau pour eviter perte de piéeces.

2. Assembler MARCHES (A) au TUBE D’'EXTENSION DE DEUX MARCHES
(B) et TUBE D’EXTENSION D’UNE MARCHE (C) avec BOULONS,
ECROUS et RONDELLES a 5/16po x 2po (C) comme illustré. Installer
CAPUCHON INFERIEURE (F) au bas de lassemblage d’échelle.

3. Assembler le haut du marche a LASSEMBLAGE DE BARRE DE MAIN
() avec les BOULONS, ECROUS et RONDELLES a 5/16po x 1%po (E).

INSTALLATION AU PONTON:
Note: * Materiaux d’attache n’est pas inclus.
A determine sur base d’epaisseure du ponton et materiaux du ponton.
1. Pose lechelle assemblee au ponton dans la position plie.
2. Perce 4 trous pour attacher U'échelle au ponton * (non inclus) a travers
l'assemble de barre de main et le ponton.
3. Installer les attaches * [non inclus) ensuite resserrer tous les
attaches *.

4
‘/e POUR AGRANDIR VOTRE ECHELLE, LES TROUSSES
D’EXPANSION SUIVANT SONT DISPONIBLES:
ARTICLE PEINTURE # ACIER INOXYDABLE #
ﬁ 1 MARCHE 2101-F 2201-F

R 2 MARCHE 2102-F 2202-F

AVERTISSEMENT : Le non-respect des instructions
d’installation peut suscifer une défaillance du produit et
de dommages corporels.
Procéder régulierement a des inspections de U'échelle
et des piéces de fixation; rechercher les indices d'usure
M ou déterioration. Remplacer tout composant déterioré. NE PAS

é SOUMETTRE LECHELLE A DES EFFORTS EXCESSIFS OU A UNE

CHARGE SUPERIEURE A 400LB. (181KG).

Imprimé au Canada v2.0

DOCK EDGE ¢ 300 New Huntington Rd, Woodbridge, ON, L4H OR4 800-295-3625 www.dockedge.com



